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THE NEW ZEALAND GAZETTE.

FOURTH SCHEDULE.
COMPUTATION OF PREMIUMS.

1. THE amount of the premium payable on the conversion of any existing sccurities
shall be equal to the product obtained by multiplying the following factors, namely :—

(a) The difference between one year’s interest on the amount of principal secured
by the existing securities at the rate payable thereon immediately before
the date of conversion and one year’s interest on the same amount at the rate
payable on the new securities ; and

(b) The appropriate factor specified in the Table of Factors hereinafter set out,
according to the period between the date of conversion and the maturity
date of the existing securities.

2. For the purpose of computing any such period as is mentioned in paragraph (b)
of the last preceding clause, any fraction of a half-year that is not less than three
months shall be counted as a half-year, and any such fraction that is less than three
months shall not be taken into account.

Table of Factors.
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Example of Working.
Conversion as from 15th December, 1933, of 6 per cent. securities for £100, maturing
14th January, 1947, into 4} per cent. securities.
Interest rate on existing securities (as reduced by Part I of the Act) is 4% per cent.
per annum.

£
One year’s interest on £100 at cxisting rate (44 per cent.) is .. .. 48
One year’s interest on £100 at new rate (4} per cent.) is .. ..o 4:25
Difference is .. .. .. £0-55

Period from date of conversion (15th December, 1933) to existing maturity date
(14th January, 1947) is 13 years 30 days, counted as 13 years.

Factor for 13 years is 9-761556.

£0-55 multiplied by 9-761556 is £5-3688558, or £5 7s. 4d., which is the premium
for £100 of the existing securities.

The premiums on other amounts of existing securities of the same class can be
computed in the same way, or, alternatively, by ascertaining 5-3688558 per cent. of the
amount of the principal in each case.
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